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Sig. of Candidate. Sig. of Invigilator.

CHEMISTRY SSC-Ii
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) For a general reaction 2.4+ 5= 2C + D the rate of forward reaction will be equal to:
A KA 5] B Kriz4jlB]  C K741 B) D. KITAT +[B]
{in) At equilibrium state of a reversible reaction:
A Concentrations of reactants and products become equal
B. Forward and reverse reactions are stopped
C. Concentrations of the reactants become zero
D. Concentration of reactants and products become constant.
(i} K is called ionization constant of water. Its value can be obtained by:
A. Adding [F* jand |7 ] B. Multiplying {7/ |and [()71]
C. Dividing [//" |and [OH) D Multiplying 177 Jand |H,0)]
{iv) The gastric juice has p/f =1 It means a;
A Slightly acidic solution B. Strongly acidic solution
C. Strongly basic solution D Slightly basic solution
v) If an alkane is having '5’ carbon atoms then the number of Hydrogen atoms in this atkane will be:
A 5 B. 10 C. 12 53 15
(Vi) n-pentane. iso-pentane and neo-pentane are having different:
A Structures B. Molecular masses
C. Molecular formulas L. Number of H-atoms
(vii) By dehydration we means the removal of;
A H, B. Ht C. H.0 L. HL o
{viit) Which of the following is evolved during the ripening of fruits and vegetables?
A Methane B. Ethane C. Ethanal D. Ethene
{ix) Ultraviolet radiations are absorbed by ozone in the stratosphere, that is why:
Al Temperature of stratosphere increases B, Temperature of stratosphere decreases
C. Ozone layer is destroyed D Ozone hoies are formed
{x) Marble buildings and statues are destroyed by acid rain due to reaction of Sulphuric acid with:
A. Fe B. Ca(NO, ), C. FeSO), D CalC0,
(xi) lce floats over liquid water because:
A Its volume is less than water B. {ts mass is less than water
C. ifs density is less than water D Its temperature is less than water
(xii) Which scientist proposed the law of mass action?
A C.M. Lewis B C.M. Wanderwat
C. C.M Guider D. C.M. Guldberg

For Examiner’'s use only:
Total Marks: 12

Marks Obtained: ’7__?
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CHEMISTRY SSC-li

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

SECTION - B (Marks 33)

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)

()

Write K expression of the following reactions:

a. Hog) +1Lig) = 2HI(Y)
b. NO(g) =2 2NO, (¢)
c. PCL(g)y= PCL(g) + CLg)

Discuss Le Chatellier's principle with an example.

Differentiate between Lewis concept and Bronsted-Lowery concept of acids and bases.

Write three valuable applications of p/l measurement.

What is a functional group? Draw structural formulas of the functional groups present in the following

compounds:

a. Aldehyde b. Amine

What happens when an unsaturated organic compound is treated with? (no equation required)
a. Bromine water b. lodine soiution ¢ Dilute alkaline Kddn¢), Solution

How would you prepare?

a. Ethane from Ethyne b. 1, 2-Dibromoeethane from Ethene

Draw structural formulas of the following compounds:

a. Glucose b Fructose c. Aminoacid

Write three differences between DNA and RNA.

Acid rain has lesser p// than normal rain. Write down the balanced equations to show the formation of

.50, and HNC,in the acid rain
What is Hard water? Discuss its types.

Explain the coagulation process in Raw water treatment,
Mention the sources and one harmful effect of the foilowing pollutants.

a. SO, b. CFC's c. o

Draw a Flow Sheet diagram for Urea manufacturing.
Explain the carbonation process in the manufacturing of Soda ash by Solvay's process.

SECTION - C (Marks 20)

Attempt any TWO qguestions. All questions carry equal marks. (2 x 10 = 20}

a.

Discuss the Fractional Distillation of petroleum and write names of Eight fractions obtained

in this process (02+04)
Discuss two methods to remove permanent hardness from water. (04)

Write down two sources and one use of fat soluble vitamins. also write the name of a disease

caused by the deficiency of each fat soluble vitamin. (08)
Explain the depletion of ozone layer by CFC's. (02)
Discuss Dehydrohalogenation of Alkylhalides and Vicinaldihalides. (03+03)
Explaiﬁ the followings: {02+02)
i. Arhenius concept of acids and bases.

ii.. The Law of Mass action
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Sig. of Invigilator.

CHEMISTRY SSC-II
SECTION - A (Marks 12)

Time aflowed: 20 Minutes

NOTE: Section—A is compuisory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

{n For a reversibte reaction K. — [[;%)] The correct equation of above expression is:
2

A (.= 4-8 B A+R=2C C A=-R->2C D W= A+ 8
(if) Which of the following is used as Antacid?

A NaOH B. Kol C. CatOH ), D Me(OH ).
(i) The p/i of Lemon juice is '2". The I/~ ion concentration [/ ]in the lemon juice Is:

A 107 M B. 2.0M C. 1w D. 0.2M

O
{iv} The functional group C[ is found in:
|

A Aldehydes B. Ketones C. Alcohols D. Ethers
(V) Which of the following is a heterocyclic compound?

A Benzene B. Cyciohexane C. neo-pentane D pyridine

(vi) Reduction of Ethylchloride (C', /(') produces:
A Ethane B. Ethene C. Ethyne D. Ethylalcohol

(vii) Which of the following substance reacts with KAn(), to produce ethyleneglycol?

A Ethane B. Ethyne C. Ethene L. Acetylene

(viif) Addition of Hydrogen in the vegetable oil is due to presence of

A ('-Hbonds B ("—~{bonds G ('=('bonds D. /I - bonds
{iX) The emissian of ('(}. N() and unburned hydrocarbons can be reduced by using:

A Filter Plants B. Incinerators C Green houses D. Catalytic converters
(x) On boiling temporary hard water, the substance which is settled down is:

A Cal HCOL), B. CaC0, C. Mg(HC (), D. Call,
{xi) Which of the following is an cre of Aluminum?

A Haematite B. Magnetite C. Bauxite C. Halite

(xii) What happens when ammaonium carbamate is distilled with steam?
A Ammonia is produced B. Carbon dioxide is produced

C. Urea solution is produced D. Ammonium hydroxide is produced

For Examiner’s use only:

Total Marks:

|2
Marks Obtained: )
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Time allowed: 2:40 Hours

74
CHEMISTRY SSC-II

Total Marks Sections B and C; 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION —~ B (Marks 33)
Q.2  Attempt any ELEVEN parts. The answer to each part should nhot exceed 3 to 4 lines. (11 x3=133)
{iy Discuss the application of Le Chatellier's Principle with two examples.
(i) Determine units of ' K¢ ' for the following reactions:
a Nylgr+ O, (@)= 2NV g) b. PCL(gYy=PCl(g) - CL(g)
(i) Define the followings:
a. Catalyst b. pH c. Normal Salt
(iv) Explain the Lewis concept of Acids and Bases.
{v) Balance the following equations:
a. I1,CO, t NaOH —— > Na, (' Oy + H, 0
b. H.PO, + NuOH - >Ny PO, + H,0
C. HNO, = BatOH Y - —> Ba(NOy), + 1,0
{viy An indicator gives pink colour in a basic solution and gives no colour in an acidic soiution
a. VWhat colour is observed in a solution of pfl =3
b VWhat colour is observed in a solution of pf/ =9
o} What colour is observed in a solution of pH =7
(vil} Draw the structures of following compounds and write name of family to which they belong:
a Ethanol b. Fthanoic acid cC. Fthylethanoate
(viit) How would you prepare Propene from:
a Propanol b. Propyt Chloride
{ix) Write chemical equations for the reaction of Ethene and Ethyne with KMnt),
(x} What are Amino acids? Discuss their types and draw structure of an amino acid.
(x1} Explain the structure of DNA.
{xii) Write down name of three layers of atmosphere along with their altitudes.
(i) Write down three harmful effects of the Acid rain.
{Xiv) Explain Clark’s method for the removal of hardness from water
(XV) Define the followings:
a Mineral b. Ore o} Metallurgy
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a, Discuss the sources of organric compounds. (05)
b. Write down five uses of Proteins. {05)
Q.4 a. What are Green House gases? How they cause Global warming? Write three effecis of
Global warming on our environment. (02+02+03)
b. VWhat is the role of Ozone layer in the protection of life on our planet? What is meant by
Ozone hole? (02+01)
Q.5 a. Explain four steps of sewage water treatment. (08)
b. What is Solvay's process? Name raw materials used in this process {01+01)
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